## Mathematic Slovaca

Ivan Chajda; Jan Kühr
GMV-algebras and meet-semilattices with sectionally antitone permutations

Mathematica Slovaca, Vol. 56 (2006), No. 3, 275--288

Persistent URL: http://dml.cz/dmlcz/130866

## Terms of use:

© Mathematical Institute of the Slovak Academy of Sciences, 2006

Institute of Mathematics of the Academy of Sciences of the Czech Republic provides access to digitized documents strictly for personal use. Each copy of any part of this document must contain these Terms of use.


This paper has been digitized, optimized for electronic delivery and stamped with digital signature within the project DML-CZ: The Czech Digital Mathematics Library http://project.dml.cz

# GMV-ALGEBRAS AND MEET-SEMILATTICES WITH SECTIONALLY ANTITONE PERMUTATIONS 

Ivan Chajda - Jan Kühr<br>(Communicated by Anatolij Dvurečenskij)


#### Abstract

GMV-algebras (pseudo MV-algebras) are a non-commutative extension of known MV-algebras. We show that any GMV-algebra is a (meetsemi)lattice with sectionally antitone permutations, an SAP-(semi)lattice, and hence SAP-semilattices can be viewed as a generalization of GMV-algebras.


## 1. Semilattices with antitone permutations

Let $\langle S ; \wedge, 0\rangle$ be a meet-semilattice with the least element 0 . For any $a \in S$, the principal ideal $(a]=\{x \in S: x \leq a\}$ is called a section in $S$. An antiautomorphism on ( $a$ ] is a one-to-one mapping $f$ from (a] onto ( $a$ ] such that $x \leq y$ iff $f(x) \geq f(y)$ for all $x, y \in(a]$. Obviously, $f$ is an antiautomorphism on (a] if and only if both $f$ and its inverse mapping $f^{-1}$ are antitone permutations. We say that a semilattice $\langle S ; \wedge, 0\rangle$ has sectionally antitone permutations if there exists an antiautomorphism $f_{a}$ on each section (a]. Accordingly, a semilattice with sectionally antitone permutations (an SAP-semilattice for short) is a structure $\left\langle S ; \wedge, 0,\left(f_{a}\right)_{a \in S}\right\rangle$, where $\langle S ; \wedge, 0\rangle$ is a meet-semilattice with a least element and for any $a \in S, f_{a}$ is an antitone permutation on (a].

Given an SAP-semilattice $\left\langle S ; \wedge, 0,\left(f_{a}\right)_{a \in S}\right\rangle$, we can define two total binary operations on $S$ by

$$
x * y:=f_{x}(x \wedge y) \quad \text { and } \quad x \circ y:=f_{x}^{-1}(x \wedge y)
$$

It is evident that $x * 0=x=x \circ 0,0 * x=0=0 \circ x$ and $x * x=0=x \circ x$ for all $x \in S$.

[^0]
## IVAN CHAJDA - JAN KÜHR

Example 1.1. Let $\langle G ;+, 0, \vee, \wedge\rangle$ be a lattice-ordered group (an $\ell$-group), that is, a group endowed with a compatible lattice order, and let $G^{+}=\{x \in G$ : $x \geq 0\}$ be its positive cone. Then $\left\langle G^{+} ; \wedge, 0,\left(f_{a}\right)_{a \in G^{+}}\right\rangle$is an SAP-semilattice, where for any $a \in G^{+}$, the antitone permutation $f_{a}$ is defined by $f_{a}(x):=a-x$. The operations $*$ and $\circ$ are then given by $x * y:=x-(x \wedge y)=(x-y) \vee 0$ and $x \circ y:=-(x \wedge y)+x=(-y+x) \vee 0$. It is easily seen that $(x * y) \circ z=(x \circ z) * y$ for all $x, y, z \in G^{+}$.

More generally, let $X$ be a convex subset of $G^{+}$containing 0 . Then $\left\langle X ; \wedge, 0,\left(f_{a}\right)_{a \in X}\right\rangle$ is an SAP-semilattice in which $x * y=(x-y) \vee 0$ and $x \circ y=(-y+x) \vee 0$ for all $x, y \in X$.

## THEOREM 1.2.

(i) Let $\left\langle S ; \wedge, 0,\left(f_{a}\right)_{a \in S}\right\rangle$ be an SAP-semilattice. Then for any $a \in S$, $f_{a}(x)=a * x$ and $f_{a}^{-1}(x)=a \circ x$, and the structure $\Phi(S)=\langle S ; \wedge, 0, *, \circ\rangle$ satisfies the identities

$$
\begin{gather*}
x \wedge y=x *(x \circ y)=x \circ(x * y)  \tag{1.1}\\
x * y=(x * y) \wedge(x *(y \wedge z)), \quad x \circ y=(x \circ y) \wedge(x \circ(y \wedge z)) \tag{1.2}
\end{gather*}
$$

(ii) Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an algebra of type $(2,0,2,2)$ such that $\langle S ; \wedge, 0\rangle$ is a meet-semilattice with a least element. For any $a \in S$ define the mapping

$$
f_{a}: x \mapsto a * x, \quad x \in(a]
$$

If $S$ satisfies the identities (1.1) and (1.2), then $\Psi(S)=\left\langle S ; \wedge, 0,\left(f_{a}\right)_{a \in S}\right\rangle$ is an SAP-semilattice and we have $x * y=f_{x}(x \wedge y)$ and $x \circ y=f_{x}^{-1}(x \wedge y)$ for all $x, y \in S$.
(iii) The above mappings $\Phi$ and $\Psi$ are mutually inverse bijections.

Proof.
(i) It is easily seen that $f_{a}(x)=a * x$ and $f_{a}^{-1}(x)=a \circ x$. We have

$$
x *(x \circ y)=f_{x}\left(x \wedge f_{x}^{-1}(x \wedge y)\right)=f_{x}\left(f_{x}^{-1}(x \wedge y)\right)=x \wedge y
$$

and analogously $x \circ(x * y)=x \wedge y$, which is (1.1), and from $x \wedge y \geq x \wedge y \wedge z$ it follows that $x * y=f_{x}(x \wedge y) \leq f_{x}(x \wedge y \wedge z)=x *(y \wedge z)$ and $x \circ y=$ $f_{x}^{-1}(x \wedge y) \leq f_{x}^{-1}(x \wedge y \wedge z)=x \circ(y \wedge z)$ proving (1.2).
(ii) Assume that $\langle S ; \wedge, 0, *, \circ\rangle$ satisfies the equations (1.1) and (1.2). Then $a * x \in(a]$ for any $x \in(a]$ since $a \wedge(a * x)=a *(a \circ(a * x))=a *(a \wedge x)=a * x$ by (1.1). Analogously, $a \circ x \in(a]$. If $a * x=a * y$ for $x, y \in(a]$, then $x=a \wedge x=$ $a \circ(a * x)=a \circ(a * y)=a \wedge y=y$ again by (1.1), and in addition, every $y \in(a]$ can be written in the form $y=a * x$, where $x=a \circ y \in(a]$. Thus the mapping $f_{a}$ is a permutation on (a]. Because of (1.1), $f_{a}^{-1}(x)=a \circ x$ for all $x \in(a]$.

Let $x, y \in(a]$ and $x \leq y$. Then by (1.2),

$$
(a * y) \wedge(a * x)=(a * y) \wedge(a *(x \wedge y))=a * y
$$

so $a * y \leq a * x$. Similarly, $a \circ y \leq a \circ x$ whenever $x \leq y$, and hence $a * y \leq a * x$ implies $x=a \circ(a * x) \leq a \circ(a * y)=y$. Therefore, $\left\langle S ; \wedge, 0,\left(f_{a}\right)_{a \in S}\right\rangle$ is an SAP-semilattice.

For the last claim, $f_{x}(x \wedge y)=x *(x \wedge y)=x *(x \circ(x * y))=x \wedge(x * y)$ by (1.1) and

$$
\begin{aligned}
x * y & =(x * y) \wedge(x *(x \wedge y)) \\
& =(x * y) \wedge(x *(x \circ(x * y))) \\
& =(x * y) \wedge x \wedge(x * y) \\
& =x \wedge(x * y)
\end{aligned}
$$

by (1.2), so that $f_{x}(x \wedge y)=x * y$. The dual assertion follows by symmetry.
Remark 1.3. In view of (1.1) we obtain

$$
x *(x \circ y)=x \circ(x * y)=y *(y \circ x)=y \circ(y * x),
$$

and (1.2) can be rewritten in the language $\{*, \circ\}$ as follows:

$$
\begin{align*}
& x * y=(x * y) *((x * y) \circ(x *(y *(y \circ z)))), \\
& x \circ y=(x \circ y) \circ((x \circ y) *(x \circ(y \circ(y * z)))) .
\end{align*}
$$

However, if $\langle S ; \wedge, 0, *, \circ\rangle$ satisfies $\left(1.1^{\prime}\right)$ and $\left(1.2^{\prime}\right)$, then $x *(x \circ y)$ need not be equal to $x \wedge y$ and the mapping $f_{a}: x \mapsto a * x$ is not necessarily an antitone involution on $[0, a]$ :

Example 1.4. Let $\langle S ; \wedge, 0\rangle$ be the semilattice from Figure 1 and let the operation $*$ be given as follows:

| $*$ | 0 | $a$ | $b$ | $c$ | $d$ |
| :---: | :---: | :---: | :---: | :---: | :---: |
| 0 | 0 | 0 | 0 | 0 | 0 |
| $a$ | $a$ | 0 | $a$ | $a$ | 0 |
| $b$ | $b$ | $b$ | 0 | $b$ | 0 |
| $c$ | $c$ | $c$ | $c$ | 0 | $c$ |
| $d$ | $d$ | $b$ | $a$ | $d$ | 0 |

Then $\langle S ; \wedge, 0, *, *\rangle$ fulfils the equations (1.1') and (1.2'), but, for instance, $a *(a * c)=0$ while $a \wedge c=a$, and $f_{c}: x \mapsto c * x$ is not an antitone involution on $[0, c]$.


Figure 1.
Let us recall e.g. from [1] that a variety $\mathcal{V}$ with a nullary fundamental operation 0 is said to be
(a) weakly regular if every congruence $\Theta$ on any algebra $A$ in $\mathcal{V}$ is determined by its kernel $[0]_{\Theta}$, and regular if $\Theta$ is determined by any single class $[a]_{\Theta}$;
(b) distributive at 0 if $[0]_{(\Theta \vee \Phi) \cap \Psi}=[0]_{(\Theta \cap \Psi) \vee(\Phi \cap \Psi)}$ for all $\Theta, \Phi, \Psi \in \operatorname{Con}(A)$ and $A \in \mathcal{V}$, and distributive if the congruence lattice $\operatorname{Con}(A)$ of every $A \in \mathcal{V}$ is distributive;
(c) permutable at 0 if $[0]_{\Theta \circ \Phi}=[0]_{\Phi \circ \Theta}$, permutable if $\Theta \circ \Phi=\Phi \circ \Theta$ and $n$-permutable if $\Theta \circ \Phi \circ \Theta \circ \cdots=\Phi \circ \Theta \circ \Phi \circ \cdots$ ( $n$-times) for all $\Theta, \Phi \in \operatorname{Con}(A)$ and for each $A \in \mathcal{V}$;
(d) arithmetical at 0 if it is both distributive and permutable at 0 , and arithmetical if $\mathcal{V}$ is both distributive and permutable.

THEOREM 1.5. The variety of all SAP-semilattices is weakly regular, 3-permutable, arithmetical at 0 and distributive.

Proof. Let $\mathcal{V}$ be the variety of all SAP-semilattices. It is known (see e.g. [1]) that $\mathcal{V}$ is weakly regular if and only if there exist binary terms $p_{1}, \ldots, p_{n}$ for some $n \in \mathbb{N}$ such that $p_{1}(x, y)=\cdots=p_{n}(x, y)=0$ iff $x=y$. We can take $n=2$ and $p_{1}(x, y):=x * y, p_{2}(x, y):=y * x$. Clearly, $p_{1}(x, x)=p_{2}(x, x)=0$, and conversely, if $p_{1}(x, y)=p_{2}(x, y)=0$, then $x \wedge y=x \circ(x * y)=x$ and $x \wedge y=y \circ(y * x)=y$, so $x=y$.

To show that $\mathcal{V}$ is 3 -permutable, we have to find ternary terms $t_{1}, t_{2}$ such that $t_{1}(x, y, y)=x, t_{1}(x, x, y)=t_{2}(x, y, y)$ and $t_{2}(x, x, y)=y$. It is obvious that the terms $t_{1}(x, y, z):=x *(y \circ z)$ and $t_{2}(x, y, z):=z *(y \circ x)$ have this property.
$\mathcal{V}$ is arithmetical at 0 if and only if there exists a binary term $t$ with $t(x, x)=$ $t(0, x)=0$ and $t(x, 0)=x$. Obviously, one may take $t(x, y):=x * y$.

Finally, $\mathcal{V}$ is congruence distributive since it is both weakly regular and distributive at 0 .

An SAP-lattice is an algebra $\langle L ; \vee, \wedge, 0, *, \circ\rangle$, where $\langle L ; \vee, \wedge\rangle$ is a lattice and $\langle L ; \wedge, 0, *, \circ\rangle$ is an SAP-semilattice. For instance, if $X$ is a lattice ideal of the positive cone $G^{+}$of any $\ell$-group $G$, then $\langle X ; \vee, \wedge, 0, *, \circ\rangle$ is an SAP-lattice.

THEOREM 1.6. The variety of all SAP-lattices is regular and arithmetical.
Proof. Let now $\mathcal{V}$ be the variety of SAP-lattices. It is known that $\mathcal{V}$ is regular if and only if there exist ternary terms $p_{1}, \ldots, p_{n}$ with $p_{1}(x, y, z)=\ldots$ $=p_{n}(x, y, z)=z$ iff $x=y$.

Let

$$
\begin{aligned}
& p_{1}(x, y, z):=(x * y) \vee(y * x) \vee z \\
& p_{2}(x, y, z):=(z *(x * y)) \wedge(z *(y * x))
\end{aligned}
$$

One immediately sees that $p_{1}(x, x, z)=p_{2}(x, x, z)=z$. If $p_{1}(x, y, z)=p_{2}(x, y, z)$ $=z$, then $z \geq x * y, y * x$ and $z=z *(x * y)=z *(y * x)$ since $z=$ $(z *(x * y)) \wedge(z *(y * x))$ and $z \geq z *(x * y), z *(y * x)$, whence it follows that $0=z \circ z=z \circ(z *(x * y))=z \wedge(x * y)=x * y$ and $0=z \circ z=z \circ(z *(y * x))=$ $z \wedge(y * x)=y * x$, and therefore $x=y$.

Further, $\mathcal{V}$ is arithmetical if and only if there exists a ternary term $m$ such that $m(x, y, y)=m(x, y, x)=m(y, y, x)=x$. It can be easily seen that the term

$$
m(x, y, z):=(x \wedge z) \vee(x *(y \circ z)) \vee(z *(y \circ x))
$$

satisfies these conditions.

## 2. GMV-algebras

In 1958, C. C. Chang introduced the notion of an MV-algebra as an algebraic counterpart of the Eukasiewicz propositional calculus. The research on MV-algebras has burgeoned in the last two decades. Starting from intervals of (not necessarily commutative) lattice-ordered groups, J. Rach u nek established in [9] the concept of a GMV-algebra (generalized MV-algebra). Noncommutative MV-algebras, named pseudo MV-algebras were independently defined by G. Georgescu and A. Iorgulescu in [7].

A GMV-algebra is an algebra $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ of type $(2,1,1,0,0)$ satisfying the following axioms:
(A1) $(x \oplus y) \oplus z=x \oplus(y \oplus z)$,
(A2) $x \oplus 0=0 \oplus x=x$,
(A3) $x \oplus 1=1 \oplus x=1$,
(A4) $\neg 1=\sim 1=0$,
(A5) $\neg(\sim x \oplus \sim y)=\sim(\neg x \oplus \neg y)$,
(A6) $x \oplus(y \odot \sim x)=y \oplus(x \odot \sim y)=(\neg x \odot y) \oplus x=(\neg y \odot x) \oplus y$,
(A7) $(\neg x \oplus y) \odot x=y \odot(x \oplus \sim y)$,
(A8) $\sim \neg x=x$,
where the additional operation $\odot$ is defined via

$$
x \odot y:=\sim(\neg x \oplus \neg y) .
$$

If $\oplus$ is commutative, then $\sim$ coincides with $\neg$ and $\langle A ; \oplus, \neg, 0,1\rangle$ becomes an MV-algebra. For basic properties of MV- and GMV-algebras we refer to [4] and [7], respectively.

The prototypical example of a GMV-algebra arises from lattice-ordered groups. Let $G$ be any $\ell$-group and $u \in G^{+} \backslash\{0\}$. Define $\Gamma(G, u):=$ $\langle[0, u] ; \oplus, \neg, \sim, 0, u\rangle$ by $x \oplus y:=(x+y) \wedge u, \neg x:=u-x$ and $\sim x:=-x+u$. It is straightforward to verify that the structure $\Gamma(G, u)$ is a GMV-algebra. A. Dvurečenskij generalized D. Mundici's fundamental result on categorical equivalence of MV-algebras and Abelian $\ell$-groups with strong order unit ${ }^{1}$ (see [8]) and proved that every GMV-algebra is isomorphic with $\Gamma(G, u)$ for an appropriate $\ell$-group $G$ with a strong order unit $u \in G^{+}$(see [5]).

GMV-algebras are another source of SAP-(semi)lattices: If we define $x \leq y$ iff $\neg x \oplus y=1$, the natural order on $A$, then by [7; Corollary 1.19], $\langle A ; \leq\rangle$ is a bounded distributive lattice with

$$
x \vee y=x \oplus \sim(\neg y \oplus x)=\neg(x \oplus \sim y) \oplus x
$$

and

$$
x \wedge y=x \odot \sim(\neg y \odot x)=\neg(x \odot \sim y) \odot x
$$

Moreover, $\oplus$ as well as $\odot$ distributes over both $\vee$ and $\wedge$ (which implies that $\oplus$ and $\odot$ respect $\leq)$, and we have $x \leq y$ iff $\neg y \leq \neg x$ iff $\sim y \leq \sim x$. Consequently, for any $a \in A$, the mapping $f_{a}: x \mapsto \neg x \odot a$ is an antitone permutation on $[0, a]$; the inverse mapping is given by $f_{a}^{-1}: x \mapsto a \odot \sim x$.
Theorem 2.1. Let $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ be a GMV-algebra. Then upon defining $x \wedge y:=(\neg x \oplus y) \odot x, x * y:=\neg y \odot x$ and $x \circ y:=x \odot \sim y$, the structure $\langle A ; \wedge, 0, *, \circ\rangle$ is an SAP-semilattice satisfying the equation

$$
\begin{equation*}
(x * y) \circ z=(x \circ z) * y \tag{2.1}
\end{equation*}
$$

Proof. In view of the previous remarks, it is obvious that $\langle A ; \wedge, 0, *, \circ\rangle$ is an SAP-semilattice. For the identity (2.1) calculate $(x * y) \circ z=(\neg y \odot x) \odot \sim z=$ $\neg y \odot(x \odot \sim z)=(x \circ z) * y$.

In what follows, we concentrate on SAP-semilattices satisfying the identity (2.1).

[^1]Theorem 2.2. Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an SAP-semilattice satisfying (2.1). Let $a \in S \backslash\{0\}$ and define $x \oplus_{a} y:=a *((a \circ x) \circ y), \neg_{a} x:=a * x$ and $\sim_{a} x:=a \circ x$. Then $\left\langle[0, a] ; \oplus_{a}, \neg_{a}, \sim_{a}, 0, a\right\rangle$ is a GMV-algebra.

Before proving the theorem we need two lemmata.
LEMMA 2.3. Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an SAP-semilattice satisfying (2.1). Then for any $a \in S \backslash\{0\}$, the section $[0, a]$ is a lattice in which

$$
x \vee_{a} y=a *((a \circ x) \circ(y \circ x))=a \circ((a * y) *(x * y))
$$

Proof. Since the mappings $f_{a}: x \mapsto a * x$ and $f_{a}^{-1}: x \mapsto a \circ x$ are antitone permutations on $[0, a]$, it should be obvious that $x \vee_{a} y:=a *((a \circ x) \wedge(a \circ y))$ is the supremum of $\{x, y\}$ and we have

$$
\begin{aligned}
x \vee_{a} y & =a *((a \circ x) \wedge(a \circ y)) \\
& =a *((a \circ x) \circ((a \circ x) *(a \circ y))) \\
& =a *((a \circ x) \circ((a *(a \circ y)) \circ x)) \\
& =a *((a \circ x) \circ(y \circ x)) .
\end{aligned}
$$

The other equality follows for symmetric reasons.
LEMMA 2.4. Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an SAP-semilattice with (2.1), $a \in S \backslash\{0\}$. Then for all $x, y, z \in[0, a]$,
(i) $a *((a \circ x) \circ y)=a \circ((a * y) * x)$,
(ii) $a *(((a \circ x) \circ y) \circ z)=a \circ(((a * z) * y) * x)$.

## Proof.

(i) Put $\alpha=a *((a \circ x) \circ y)$ and $\beta=a \circ((a * y) * x)$. Then clearly $\alpha, \beta \in[0, a]$ and we have $a \circ \alpha=a \circ(a *((a \circ x) \circ y))=a \wedge((a \circ x) \circ y)=(a \circ x) \circ y$, whence $(\alpha \circ x) \circ y=((a *(a \circ \alpha)) \circ x) \circ y=((a \circ x) *(a \circ \alpha)) \circ y=((a \circ x) \circ y) *(a \circ \alpha)=0$, so $\alpha \circ x \leq y$. But $\alpha \circ x \leq y$ is equivalent to $\alpha * y \leq x$ since $(\alpha \circ x) * y=(\alpha * y) \circ x$. Hence we obtain $(a * y) \circ(a * \alpha)=(a \circ(a * \alpha)) * y=\alpha * y \leq x$, which yields $(a * y) * x \leq a * \alpha$, and therefore $\beta=a \circ((a * y) * x) \geq a \circ(a * \alpha)=\alpha$. The proof of the converse inequality can be achieved analogously.
(ii) Let $\alpha=a *(((a \circ x) \circ y) \circ z)$ and $\beta=a \circ(((a * z) * y) * x)$. Then $a \circ \alpha=((a \circ x) \circ y) \circ z$, which yields $(((a \circ x) \circ y) *(a \circ \alpha)) \circ z=(((a \circ x)$ $\circ y) \circ z) *(a \circ \alpha)=0$, i.e. $((a \circ x) \circ y) *(a \circ \alpha) \leq z$. Further, $(\alpha \circ x) \circ y=$ $((a *(a \circ \alpha)) \circ x) \circ y=((a \circ x) *(a \circ \alpha)) \circ y=((a \circ x) \circ y) *(a \circ \alpha) \leq z$, which is equivalent to $(\alpha * z) \circ x=(\alpha \circ x) * z \leq y$, and consequently to $(\alpha * z) * y \leq x$. But $(\alpha * z) * y=((a \circ(a * \alpha)) * z) * y=((a * z) \circ(a * \alpha)) * y=((a * z) * y) \circ(a * \alpha)$, so that $((a * z) * y) \circ(a * \alpha) \leq x$, whence it follows $((a * z) * y) * x \leq a * \alpha$ and
finally $\beta=a \circ(((a * z) * y) * x) \geq a \circ(a * \alpha)=\alpha$. The same argument shows $\alpha \geq \beta$.

Proof of Theorem 2.2. Note that by Lemma 2.4(i) we have

$$
x \oplus_{a} y=a *((a \circ x) \circ y)=a \circ((a * y) * x) .
$$

(A1) follows from Lemma 2.4(ii):

$$
\begin{aligned}
\left(x \oplus_{a} y\right) \oplus_{a} z & =a *((a \circ(a *((a \circ x) \circ y))) \circ z)=a *(((a \circ x) \circ y) \circ z) \\
& =a \circ(((a * z) * y) * x)=a \circ((a *(a \circ((a * z) * y))) * x) \\
& =x \oplus_{a}\left(y \oplus_{a} z\right)
\end{aligned}
$$

For (A2), $x \oplus_{a} 0=a *((a \circ x) \circ 0)=a *(a \circ x)=x$ and similarly $0 \oplus_{a} x=x$. Analogously, $x \oplus_{a} a=a \circ((a * a) * x)=a \circ(0 * x)=a$ and likewise $a \oplus_{a} x=a$, which is (A3). The axiom (A4) obviously holds as $\neg_{a} a=a * a=0=a \circ a=\sim_{a} a$. To see (A5), calculate

$$
\begin{aligned}
\neg_{a}\left(\sim_{a} x \oplus_{a} \sim_{a} y\right) & =a *(a \circ((a *(a \circ y)) *(a \circ x))) \\
& =y *(a \circ x)=(a \circ(a * y)) *(a \circ x) \\
& =(a *(a \circ x)) \circ(a * y)=x \circ(a * y) \\
& =a \circ(a *((a \circ(a * x)) \circ(a * y))) \\
& =\sim_{a}\left(\neg_{a} x \oplus_{a} \neg_{a} y\right) .
\end{aligned}
$$

For (A6), observe that $y \odot_{a} \sim_{a} x=\sim_{a}\left(\neg_{a} y \oplus_{a} x\right)=a \circ(a *((a \circ(a * y)) \circ x))=y \circ x$, whence $x \oplus_{a}\left(y \odot_{a} \sim_{a} x\right)=a *((a \circ x) \circ(y \circ x))=x \vee_{a} y$ by Lemma 2.3. Similarly $\neg_{a} y \odot_{a} x=x * y$, and hence $\left(\neg_{a} y \odot_{a} x\right) \oplus_{a} y=x \vee_{a} y$. Furthermore, $\left(\neg_{a} x \oplus_{a} y\right) \odot_{a} x=\neg_{a}\left(x \odot_{a} \sim_{a} y\right) \odot_{a} x=x *(x \circ y)=x \wedge y$ and analogously we obtain $y \odot_{a}\left(x \oplus_{a} \sim_{a} y\right)=y \circ(y * x)=x \wedge y$, which verifies (A7). Finally, (A8) is clear: $\sim_{a} \neg_{a} x=a \circ(a * x)=a \wedge x=x$.

COROLLARY 2.5. Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an SAP-semilattice with the greatest element $1 \neq 0$, satisfying (2.1). Let $x \oplus y:=1 *((1 \circ x) \circ y), \neg x:=1 * x$ and $\sim x:=1 \circ x$. Then $\langle S ; \oplus, \neg, \sim, 0,1\rangle$ is a GMV-algebra.

Corollary 2.6. If $\langle S ; \wedge, 0, *, \circ\rangle$ is an SAP-semilattice satisfying (2.1), then every section $[0, a]$ is a distributive lattice.

Proof. Since $\left\langle[0, a] ; \oplus_{a}, \neg_{a}, \sim_{a}, 0, a\right\rangle$ is a GMV-algebra, it follows that $\left\langle[0, a] ; \vee_{a}, \wedge\right\rangle$ is a distributive lattice.

Combining Theorem 2.1 and Theorem 2.2, we get:

Corollary 2.7. Let $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ be a GMV-algebra, $a \in A \backslash\{0\}$. Define $x \oplus_{a} y:=(x \oplus y) \wedge a, \neg_{a} x:=\neg x \odot a$ and $\sim_{a} x:=a \odot \sim x$ for $x, y \in[0, a]$. Then $\left\langle[0, a] ; \oplus_{a}, \neg_{a}, \sim_{a}, 0, a\right\rangle$ is a GMV-algebra.

Proof. Calculate

$$
\begin{aligned}
x \oplus_{a} y & =(x \oplus y) \wedge a=\neg(a \odot \sim(x \oplus y)) \odot a \\
& =\neg(a \odot \sim x \odot \sim y) \odot a=a *((a \circ x) \circ y)
\end{aligned}
$$

Corollary 2.8. Let $\langle S ; \wedge, 0, *, \circ\rangle$ be an SAP-semilattice satisfying the identity (2.1). If every section $[0, a]$ is finite, then $S$ is commutative, i.e., $x * y=x \circ y$ for all $x, y \in S$.

Proof.
If $[0, a]$ is a finite set, then by [6; Theorem 3.2], $\left\langle[0, a] ; \oplus_{a}, \neg_{a}, \sim_{a}, 0, a\right\rangle$ is an MV-algebra, that is, $\neg_{a} x=\sim_{a} x$ for all $x \in[0, a]$. Hence $f_{a}: x \mapsto \neg_{a} x$ is an antitone involution on $[0, a]$. Consequently, we have $x * y=f_{x}(x \wedge y)=$ $f_{x}^{-1}(x \wedge y)=x \circ y$ for all $x, y \in S$.


Figure 2.
Remark 2.9. Due to Corollary 2.6, every bounded SAP-lattice satisfying the equation (2.1) is distributive. In addition, by Corollary 2.8 , every finite SAP-lattice with (2.1) is commutative in the sense that the operations $*$ and - coincide. We now give an example of a finite non-commutative distributive SAP-lattice in which (2.1) fails to be true:
Example 2.10. Let $\langle L ; \vee, \wedge\rangle$ denote the lattice whose Hasse diagram is shown in Figure 2. Let the antitone permutation $f_{1}$ on $L=[0,1]$ be defined by $0 \mapsto 1$, $a \mapsto y, y \mapsto c, c \mapsto z, z \mapsto b, b \mapsto x, x \mapsto a$ and $1 \mapsto 0$; the antitone permutations on the other sections assign to an element its relative complement in the section. The SAP-lattice is not commutative since e.g. $1 * a=f_{1}(a)=$ $y \neq x=f_{1}^{-1}(a)=1 \circ a$. Moreover, it is straightforward to verify that e.g. $(1 * a) \circ b=y \circ b=y$ while $(1 \circ b) * a=z * a=z$.

THEOREM 2.11. Let $\langle S ; \wedge, 0\rangle$ be a meet-semilattice with 0 such that every section $[0, a], a \in S \backslash\{0\}$, is a carrier of $a$ GMV-algebra $\left\langle[0, a] ; \oplus_{a}, \neg_{a}, \sim_{a}, 0, a\right\rangle$ whose natural order coincides with that induced by $\wedge$. Assume that the following compatibility condition is satisfied:

$$
\text { If } x \leq a \leq b \text {, then } \neg_{a} x=\neg_{b} x \odot_{b} a \text { and } \sim_{a} x=a \odot_{b} \sim_{b} x .
$$

Define

$$
x * y:= \begin{cases}\neg_{x}(x \wedge y) & \text { if } x \neq 0 \\ 0 & \text { if } x=0\end{cases}
$$

and

$$
x \circ y:= \begin{cases}\sim_{x}(x \wedge y) & \text { if } x \neq 0 \\ 0 & \text { if } x=0\end{cases}
$$

Then $\langle S ; \wedge, 0, *, \circ\rangle$ is an SAP-semilattice satisfying the identity (2.1).
Pr o of. If $x=0$, then all the identities (1.1), (1.2) and (2.1) obviously hold, so let $x \neq 0$. Thus $x *(x \circ y)=\neg_{x}\left(x \wedge \sim_{x}(x \wedge y)\right)=\neg_{x} \sim_{x}(x \wedge y)=x \wedge y$ and similarly $x \circ(x * y)=x \wedge y$, which verifies (1.1). The identities (1.2) are also almost evident since $x \wedge y \geq x \wedge y \wedge z$ implies $x * y=\neg_{x}(x \wedge y) \leq \neg_{x}(x \wedge y \wedge z)=x *(y \wedge z)$ and $x \circ y=\sim_{x}(x \wedge y) \leq \sim_{x}(x \wedge y \wedge z)=x \circ(y \wedge z)$.

In proving (2.1) we make use of the following claim:
CLAIM. In any GMV-algebra we have the identity $\neg x \odot \sim(\neg x \wedge y)=$ $\neg(\sim y \wedge x) \odot \sim y$.

Calculate

$$
\begin{aligned}
\neg x \odot \sim(\neg x \wedge y) & =\neg x \odot \sim(\neg(\neg x \odot \sim y) \odot \neg x) \\
& =\neg x \wedge(\neg x \odot \sim y) \\
& =\neg x \odot \sim y \\
& =\sim y \wedge(\neg x \odot \sim y) \\
& =\neg(\sim y \odot \sim(\neg x \odot \sim y)) \odot \sim y \\
& =\neg(\sim y \wedge x) \odot \sim y .
\end{aligned}
$$

Assume that $x * y \neq 0 \neq x \circ z$. We have

$$
\begin{aligned}
(x * y) \circ z & =\sim_{\neg_{x}(x \wedge y)}\left(\neg_{x}(x \wedge y) \wedge z\right) \\
& =\sim_{\neg_{x}(x \wedge y)}\left(\neg_{x}(x \wedge y) \wedge x \wedge z\right) \\
& =\neg_{x}(x \wedge y) \odot_{x} \sim_{x}\left(\neg_{x}(x \wedge y) \wedge x \wedge z\right)
\end{aligned}
$$

by the compatibility condition for $\neg_{x}(x \wedge y) \wedge x \wedge z \leq \neg_{x}(x \wedge y) \leq x$ and similarly

$$
\begin{aligned}
(x \circ z) * y & ={\neg \sim_{x}(x \wedge z)}\left(\sim_{x}(x \wedge z) \wedge y\right) \\
& =\neg_{\sim_{x}(x \wedge z)}\left(\sim_{x}(x \wedge z) \wedge x \wedge y\right) \\
& =\neg_{x}\left(\sim_{x}(x \wedge z) \wedge x \wedge y\right) \odot_{x} \sim_{x}(x \wedge z)
\end{aligned}
$$

by the compatibility condition for $\sim_{x}(x \wedge z) \wedge x \wedge y \leq \sim_{x}(x \wedge z) \leq x$. Now by the claim, for $x \wedge y, x \wedge z \in[0, x]$ we obtain $(x * y) \circ z=(x \circ z) * y$.

If $x * y=0$, then $(x * y) \circ z=0$ and $x \leq y$ since $\neg_{x}(x \wedge y)=x * y=0$ implies $x \wedge y=\sim_{x} 0=x$. This along with $x \circ z \leq x$ yields $x \circ z \leq y$, whence $(x \circ z) * y=\neg_{x \circ z}((x \circ z) \wedge y)=\neg_{x \circ z}(x \circ z)=0$ if $x \circ z \neq 0$. Analogously, if $x \circ z=0$, then $(x * y) \circ z=(x \circ z) * y=0$.

Remark 2.12. Observe that the compatibility condition can be captured by the identities

$$
\begin{aligned}
\neg_{y \wedge z}(x \wedge y \wedge z) & =\neg_{z}(x \wedge y \wedge z) \odot_{z}(y \wedge z) \\
\sim_{y \wedge z}(x \wedge y \wedge z) & =(y \wedge z) \odot_{z} \sim_{z}(x \wedge y \wedge z)
\end{aligned}
$$

## 3. Interval GMV-algebras

In [3] we proved that if $\langle A ; \oplus, \neg, 0,1\rangle$ is an MV-algebra and $a \in A \backslash\{1\}$, then the structure $\left\langle[a, 1] ; \oplus_{a}, \neg_{a}, a, 1\right\rangle$ is an MV-algebra, where $x \oplus_{a} y=\neg(a \oplus \neg x) \oplus y$ and $\neg_{a} x=\neg x \oplus a$. This leads to the following analogue of Corollary 2.7:
Proposition 3.1. Let $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ be $a$ GMV-algebra and $a \in A \backslash\{1\}$. Then upon defining $x \oplus_{a} y:=\neg(a \oplus \sim x) \oplus y=x \oplus \sim(\neg y \oplus a), \neg_{a} x:=\neg x \oplus a$ and $\sim_{a} x:=a \oplus \sim x,\left\langle[a, 1] ; \oplus_{a}, \neg_{a}, \sim_{a}, a, 1\right\rangle$ is a GMV-algebra.

Proof. We first show that $\neg(a \oplus \sim x) \oplus y=x \oplus \sim(\neg y \oplus a)$. For calculate

$$
\begin{aligned}
\neg(a \oplus \sim x) \oplus y & =\neg(a \oplus \sim x) \oplus(a \vee y) \\
& =\neg(a \oplus \sim x) \oplus a \oplus \sim(\neg y \oplus a) \\
& =(a \vee x) \oplus \sim(\neg y \oplus a) \\
& =x \oplus \sim(\neg y \oplus a) .
\end{aligned}
$$

Now we have

$$
\begin{aligned}
\left(x \oplus_{a} y\right) \oplus_{a} z & =(\neg(a \oplus \sim x) \oplus y) \oplus_{a} z \\
& =\neg(a \oplus \sim x) \oplus y \oplus \sim(\neg z \oplus a) \\
& =\neg(a \oplus \sim x) \oplus\left(y \oplus_{a} z\right) \\
& =x \oplus_{a}\left(y \oplus_{a} z\right),
\end{aligned}
$$

which is (A1).

One readily sees (A2)-(A4): $x \oplus_{a} a=x \oplus \sim(\neg a \oplus a)=x \oplus \sim 1=x \oplus 0=x$ and similarly $a \oplus_{a} x=x ; x \oplus_{a} 1=\neg(a \oplus \sim x) \oplus 1=1=1 \oplus_{a} x$, and finally, $\neg_{a} 1=\neg 1 \oplus a=0 \oplus a=a=\sim_{a} 1$.

Furthermore,

$$
\begin{aligned}
\neg_{a}\left(\sim_{a} x \oplus_{a} \sim_{a} y\right) & =\neg(a \oplus \sim x \oplus \sim(\neg(a \oplus \sim y) \oplus a)) \oplus a \\
& =\neg(a \oplus \sim x \oplus \sim(a \vee y)) \oplus a \\
& =\neg(a \oplus \sim x \oplus \sim y) \oplus a \\
& =\neg(a \oplus \sim(x \odot y)) \oplus a \\
& =(x \odot y) \vee a
\end{aligned}
$$

and analogously $\sim_{a}\left(\neg_{a} x \oplus_{a} \neg_{a} y\right)=(x \odot y) \vee a$ proving the identity (A5). To see (A6), compute

$$
\begin{aligned}
x \oplus_{a}\left(y \odot_{a} \sim_{a} x\right) & =x \oplus_{a} \sim_{a}\left(\neg_{a} y \oplus_{a} x\right) \\
& =x \oplus_{a}(a \oplus \sim((\neg y \oplus a) \oplus \sim(\neg x \oplus a))) \\
& =x \oplus_{a}(a \oplus \sim(\neg y \oplus(a \vee x))) \\
& =x \oplus_{a}(a \oplus \sim(\neg y \oplus x)) \\
& =\neg(a \oplus \sim x) \oplus(a \oplus \sim(\neg y \oplus x)) \\
& =(a \vee x) \oplus \sim(\neg y \oplus x) \\
& =x \oplus \sim(\neg y \oplus x) \\
& =x \vee y
\end{aligned}
$$

The parallel argument shows that $\left(\neg_{a} x \odot_{a} y\right) \oplus_{a} x=x \vee y$ and by replacing $x$ and $y$ we obtain the remaining equations in (A6).

Note that we have shown that $x \odot_{a} y=(x \odot y) \vee a$ for any $x, y \in[a, 1]$. Hence

$$
\begin{aligned}
\left(\neg_{a} x \oplus_{a} y\right) \odot_{a} x & =\left(\left(\neg_{a} x \oplus_{a} y\right) \odot x\right) \vee a \\
& =(((\neg x \oplus a) \oplus \sim(\neg y \oplus a)) \odot x) \vee a \\
& =((\neg x \oplus(a \vee y)) \odot x) \vee a \\
& =((\neg x \oplus y) \odot x) \vee a \\
& =(x \wedge y) \vee a=x \wedge y
\end{aligned}
$$

and similarly $y \odot_{a}\left(x \oplus_{a} \sim_{a} y\right)=x \wedge y$, which verifies (A7).
Finally, (A8) is obvious since $\sim_{a} \neg_{a} x=a \oplus \sim(\neg x \oplus a)=a \vee x=x$.

Let $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ be a GMV-algebra and let $a, b \in A, a<b$. By the previous proposition, $\left\langle[a, 1] ; \oplus_{a}, \neg_{a}, \sim_{a}, a, 1\right\rangle$ is a GMV-algebra again. By Corollary 2.7 we get that $\left\langle[a, b] ; \oplus_{a b}, \neg_{a b}, \sim_{a b}, a, b\right\rangle$ is a GMV-algebra, where

$$
\begin{aligned}
x \oplus_{a b} y & =\left(x \oplus_{a} y\right) \wedge b \\
& =(x \oplus(y \odot \sim a)) \wedge b \\
& =((\neg a \odot x) \oplus y) \wedge b, \\
\neg_{a b} x & =\neg_{a} x \odot_{a} b=((\neg x \oplus a) \odot b) \vee a \\
& =(\neg a \odot(\neg x \oplus a) \odot b) \oplus a \\
& =(\neg(a \oplus \sim(\neg x \oplus a)) \odot b) \oplus a \\
& =(\neg(a \vee x) \odot b) \oplus a \\
& =(\neg x \odot b) \oplus a
\end{aligned}
$$

and similarly

$$
\sim_{a b} x=b \odot_{a} \sim_{a} x=a \oplus(b \odot \sim x)
$$

We have obtained:
Theorem 3.2. Let $\langle A ; \oplus, \neg, \sim, 0,1\rangle$ be a GMV-algebra and let $a, b \in A$ be such that $a<b$. Define $x \oplus_{a b} y:=(x \oplus(y \odot \sim a)) \wedge b=((\neg a \odot x) \oplus y) \wedge b$, $\neg_{a b} x:=(\neg x \odot b) \oplus a$ and $\sim_{a b} x:=a \oplus(b \odot \sim x)$ for $x, y \in[a, b]$. Then $\left\langle[a, b] ; \oplus_{a b}, \neg_{a b}, \sim_{a b}, a, b\right\rangle$ is a GMV-algebra.

We call an element $a$ of a GMV-algebra A Boolean if it possesses the complement $a^{\prime}$ in the underlying lattice of $A$; the set of all Boolean elements of $A$ is denoted by $B(A)$. By [7; Propositions 4.2, 4.3] (cf. also [9; Theorem 9]), $a \in B(A)$ if and only if $a \oplus a=a$ if and only if $a \odot a=a$, and if $a \in B(A)$, then $a \oplus x=x \oplus a=a \vee x$ and likewise $a \odot x=x \odot a=a \wedge x$ for all $x \in A$. Of course, $a^{\prime}=\neg a=\sim a$ for any $a \in B(A)$.

COROLLARY 3.3. Let $\left\langle[a, b] ; \oplus_{a b}, \neg_{a b}, \sim_{a b}, a, b\right\rangle$ be that from Theorem 3.2. If $a, b \in B(A)$, then $x \oplus_{a b} y=x \oplus y, \neg_{a b} x=(\neg x \wedge b) \vee a$ and $\sim_{a b} x=(\sim x \wedge b) \vee a$.

Proof. We have

$$
x \oplus_{a b} y=(x \oplus(y \wedge \sim a)) \wedge b=(x \oplus y) \wedge(x \oplus \sim a) \wedge b=x \oplus y
$$

since $x \oplus y \leq b \oplus b=b$ and $x \oplus \sim a \geq a \oplus \sim a=1$. The rest is evident.

## REFERENCES

[1] CHAJDA, I.-EIGENTHALER, G.-LÄNGER, H.: Congruence Classes in Universal Algebra, Heldermann Verlag, Lemgo, 2003.
[2] CHAJDA, I.: Lattices and semilattices having an antitone involution in every upper interval, Comment. Math. Univ. Carolin. 44 (2003), 577-585.
[3] CHAJDA, I.-HALAŠ, R.-KÜHR, J.: Distributive lattices with sectionally antitone involutions, Acta Sci. Math. (Szeged) 71 (2005), 19-33.
[4] CIGNOLI, R. L. O.-D'OTTAVIANO, I. M. L.-MUNDICI, D. : Algebraic Foundations of Many-Valued Reasoning, Kluwer Acad. Publ., Dordrecht-Boston-London, 2000.
[5] DVUREČENSKIJ, A.: Pseudo MV-algebras are intervals in $\ell$-groups, J. Aust. Math. Soc. 72 (2002), 427-445.
[6] DVUREČENSKIJ, A. : On pseudo MV-algebras, Soft Comput. 5 (2001), 347-354.
[7] GEORGESCU, G.-IORGULESCU, A.: Pseudo MV-algebras, Mult.-Valued Log. 6 (2001), 95-135.
[8] MUNDICI, D.: Interpretation of AF $C^{*}$-algebras in $£ u k a s i e w i c z ~ s e n t e n t i a l ~ c a l c u l u s, ~$ J. Funct. Anal. 65 (1986), 15-63.
[9] RACHŮNEK, J.: A non-commutative generalization of MV-algebras, Czechoslovak Math. J. 52 (2002), 255-273.
[10] RACHŮNEK, J.: Prime spectra of non-commutative generalizations of MV-algebras, Algebra Universalis 48 (2002), 151-169.

Received September 24, 2004
Revised December 6, 2004

Department of Algebra and Geometry Faculty of Science Palacky University Olomouc Tomkova 40
CZ-779 00 Olomouc
CZECH REPUBLIC
E-mail: chajda@inf.upol.cz
kuhr@inf.upol.cz


[^0]:    2000 Mathematics Subject Classification: Primary 06A12, 06D35, 03G25.
    Keywords: (semi)lattice, antitone permutation, GMV-algebra.

[^1]:    ${ }^{1}$ We call $u \in G^{+}$a strong order unit if for every $x \in G$ there exists $n \in \mathbb{N}$ such that $x \leq n u$.

